Math 260 — Quiz # 5b

Name: Sec.#:

Sr #:

Find a basis and the dimension of the solution space of the system: (A1,-A)X =0, for

-3 0 -1
A= 2 1 0 |and 1=-2.
0 0 -2
Solution:
100 |-30 -1 1 0 1
AM;-A=-210 1 0|-|2 1 0|=|-2 -3 0
0 01 0 0 -2 0 0 O
1 0 1}x,
= (Al;-A)X =|-2 -3 0||x,|[=|0
0 0 O0f]x, 0
Solving:
101|02R1+R2101|0%12101 0
-2 30| 0] - |0 30|00 —>|01 =210
0O 0 0| O 0O 0 0] O 0 0O 0
= Xy=r
X,=3%r
X, =—r
X, -r -1
X =|x,|=|4r|=r|
X r 1

Hence, a basis for the solution space is {(-3,2,3)}, and its dimension is 1.



